Volume 18, Number 6 (2020), 1037-1047

 ${\rm URL:}\ {\tt https://doi.org/10.28924/2291-8639}$ 

DOI: 10.28924/2291-8639-18-2020-1037



## MEROMORPHIC STARLIKE FUNCTIONS WITH RESPECT TO SYMMETRIC POINTS

# MUHAMMAD GHAFFAR KHAN<sup>1,\*</sup>, MASLINA DARUS<sup>2</sup>, BAKHTIAR AHMAD<sup>3</sup>, GANGADHARAN MURUGUSUNDARAMOORTHY<sup>4</sup>, RAEES KHAN<sup>5</sup>, NASIR KHAN<sup>5</sup>

<sup>1</sup>Department of Mathematics, Abdul Wali Khan University Mardan, Pakistan <sup>2</sup>Department of Mathematical Sciences, Faculty of Science and Technology, Universiti Kebangsaan Malaysia, 43600, Bangi, Selangor, Malaysia

<sup>3</sup>Govt. Degree College Mardan, 23200 Mardan, Pakistan

<sup>4</sup>Department of Mathematics, SAS, Vellore Institute of Technology, Deemed to be University, Vellore 632014, India

<sup>5</sup>Department of Mathematics, Fata university, Dara Adam Khel, N.M.D. Kohat, KP, Pakistan

\*Corresponding author: ghaffarkhan020@gmail.com

ABSTRACT. The main purpose of this article is to introduce a class of meromorphic functions associated with the symmetric points in circular domain. We investigate the necessary and sufficient conditions, distortions theorem for this class. Furthermore, we obtain closure and convolutions properties, radii of starlikeness and partial sum results for these functions.

### 1. Introduction

Denoted by  $\mathcal{M}$ , the class of functions f which are analytic in the  $\mathfrak{D}^* = \mathfrak{D} \setminus \{0\}$ , where  $\mathfrak{D} = \{z \in \mathbb{C} : |z| < 1\}$  and having the following series expansion form

(1.1) 
$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n \ z^n, \ z \in \mathfrak{D}^*.$$

Received August 5<sup>th</sup>, 2020; accepted September 4<sup>th</sup>, 2020; published October 14<sup>th</sup>, 2020.

2010 Mathematics Subject Classification. 30C45, 30C50.

Key words and phrases. meromorphic functions; subordinations; convolutions; Janowski functions.

©2020 Authors retain the copyrights

We say that an analytic function  $f_1(z)$  is subordinate to  $f_2(z)$  in  $\mathfrak{D}$ , symbolically represented as  $f_1(z) \prec f_2(z)$ , if there exists an analytic function w(z) with conditions |w(z)| < 1 and w(0) = 1 such that  $f_1(z) = f_2(w(z))$ . Moreover, if  $f_2(z)$  is univalent, then we have the following equivalency from [1] and [2],

$$f_1(0) = f_2(0)$$
 and  $f_1(\mathfrak{D}) \subseteq f_2(\mathfrak{D})$ .

For two functions  $f_1(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,1} z^n$  and  $f_2(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,2} z^n$  in  $\mathfrak{D}^*$  the convolution or Hadamard product is defined by

$$(f_1 * f_2)(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,1} a_{n,2} z^n.$$

A function  $f \in \mathcal{M}$  is said to be in the class  $\mathcal{MS}^*(\alpha)$  of meromorphic starlike functions of order  $\alpha$  if it satisfies the inequality

$$\Re\left(\frac{zf'(z)}{f(z)}\right) < -\alpha, \ z \in \mathfrak{D}^* \ 0 \le \alpha < 1.$$

For some recent investigation of meromorphic functions see [3–13]. Motivated by aforementioned and recent work of [14], we define the functions' class as below:

Let  $-1 \le B < A \le 1$ . Then the function f is in the class  $\mathcal{MS}^{**}[A, B]$  if it satisfies

(1.3) 
$$-\frac{2zf'(z)}{f(z) - f(z)} \prec \frac{1 + Az}{1 + Bz}, (z \in \mathfrak{D}^*),$$

or equivalently

(1.4) 
$$\left| \frac{\frac{2zf'(z)}{f(z) - f(-z)} + 1}{B\frac{2zf'(z)}{f(z) - f(-z)} + A} \right| < 1 \ (z \in \mathfrak{D}^*).$$

2. Coefficient Inequalities

**Theorem 2.1.** Let  $f \in \mathcal{M}$  and assumed as in (1.1) then  $f \in \mathcal{MS}^{**}[A, B]$ , if and only if

(2.1) 
$$\sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1-(-1)^n}{2} \right) |a_n| \le A - B.$$

This inequality is sharp.

*Proof.* Let us assume that condition (2.1) holds. To show  $f \in \mathcal{MS}^{**}[A, B]$ , we only need to show the inequality (1.4) holds. For this consider

$$\left| \frac{\frac{2zf'(z)}{f(z) - f(-z)} + 1}{B \frac{2zf'(z)}{f(z) - f(-z)} + A} \right| = \left| \frac{zf'(z) + \frac{f(z) - f(-z)}{2}}{Bzf'(z) + A \frac{f(z) - f(-z)}{2}} \right| \\
= \left| \frac{\sum_{n=1}^{\infty} \left(n + \frac{1 - (-1)^n}{2}\right) a_n}{(B - A) + \sum_{n=1}^{\infty} \left(Bn + A \frac{1 - (-1)^n}{2}\right) a_n} \right| \\
\leq \frac{\sum_{n=1}^{\infty} \left(n + \frac{1 - (-1)^n}{2}\right) a_n}{(B - A) - \sum_{n=1}^{\infty} \left(Bn + A \frac{1 - (-1)^n}{2}\right) a_n} < 1.$$

Now for other part let suppose  $f \in \mathcal{MS}^{**}[A, B]$ . We are to show that the inequality (2.1), holds true. Consider

$$\left| \frac{\frac{2zf'(z)}{f(z) - f(-z)} + 1}{B \frac{2zf'(z)}{f(z) - f(-z)} + A} \right| = \left| \frac{zf'(z) + \frac{f(z) - f(-z)}{2}}{Bzf'(z) + A \frac{f(z) - f(-z)}{2}} \right| \\
= \left| \frac{\sum_{n=1}^{\infty} \left(n + \frac{1 - (-1)^n}{2}\right) a_n}{(A - B) + \sum_{n=1}^{\infty} \left(Bn + A \frac{1 - (-1)^n}{2}\right) a_n} \right|,$$

since the  $\Re(z) \leq |z|$ , we have

$$\Re\left\{\frac{\sum_{n=1}^{\infty} \left(n + \frac{1 - (-1)^n}{2}\right) a_n z^{n-1}}{(A - B) + \sum_{n=1}^{\infty} \left(B n + A \frac{1 - (-1)^n}{2}\right) a_n z^{n-1}}\right\} < 1 ,$$

now if we choose the value of z on real axis then  $\frac{2zf'(z)}{f(z)-f(-z)}$  is real. Letting  $z \to 1^-$  on real axis and some simple calculation in (2.2), lead us to (2.1).

**Theorem 2.2.** Let  $f \in \mathcal{M}$  and assumed as in (1.1) then  $f \in \mathcal{MS}^{**}[A, B]$ , if and only if

(2.3) 
$$z \left[ f(z) * \left( \frac{(1-2z) (1 + Be^{i\theta})}{z (1-z)^2} - \frac{z (1 + Ae^{i\theta})}{1-z^2} \right) \right] \neq 0, \quad (z \in \mathfrak{D}).$$

*Proof.* It is easy to verify the relations

(2.4) 
$$f(z) * \frac{z}{1-z^2} = \frac{f(z) - f(-z)}{2} \text{ and } f(z) * \left[ \frac{1}{z(1-z)^2} - \frac{2}{(1-z)^2} \right] = -zf'(z).$$

To prove (2.3), if  $f \in \mathcal{MS}^{**}[A, B]$  then we write (1.3), by using definition of subordination as

(2.5) 
$$-\frac{2zf'(z)}{f(z) - f(-z)} = \frac{1 + Aw(z)}{1 + Bw(z)},$$

which is equivalent to

$$-\frac{2zf'(z)}{f(z)-f(-z)} \neq \frac{1+Ae^{i\theta}}{1+Be^{i\theta}}, \ z \in \mathfrak{D}, \ \theta \in [0,2\pi],$$

which implies that

$$-zf'(z)\left(1 + Be^{i\theta}\right) - \frac{f(z) - f(-z)}{2}\left(1 + Ae^{i\theta}\right) \neq 0.$$

Using the relation (2.4), (2.6) become

$$z\left[f(z)*\left(\frac{\left(1-2z\right)\left(1+Be^{i\theta}\right)}{z\left(1-z\right)^{2}}-\frac{z\left(1+Ae^{i\theta}\right)}{1-z^{2}}\right)\right]\neq0,\text{ for }z\in\mathfrak{D}.$$

Conversly, suppose that the condition (2.3) hold, it follows that  $zf(z) \neq 0$  for all  $z \in \mathfrak{D}$ . Hence  $\Phi(z) = -\frac{2zf'(z)}{f(z)-f(-z)}$  is analytic in  $\mathfrak{D}$  with  $\Phi(0) = 1$ . Since

(2.7) 
$$-\frac{2zf'(z)}{f(z) - f(-z)} \neq \frac{1 + Ae^{i\theta}}{1 + Be^{i\theta}}.$$

If we denote

$$\Psi\left(z\right) = \frac{1 + Az}{1 + Bz},$$

the relation (2.7), show that  $\Phi(\mathfrak{D}) \cap \Psi(\mathfrak{D}) = \emptyset$ . Therefore the simply connected domain  $\Phi(\mathfrak{D})$  is contained in connected component of  $\mathbb{C} \setminus \Psi(\partial \mathfrak{D})$ . The univalence of " $\Phi$ " togather with the fact  $\Psi(0) = \Phi(0) = 1$ , this show that  $\Phi \prec \Psi$  which shows that  $f \in \mathcal{MS}^{**}[A, B]$ .

**Theorem 2.3.** The class  $MS^{**}[A, B]$  is closed under convex combination.

*Proof.* Let  $f_i(z) \in \mathcal{MS}^{**}[A, B]$ , such that

$$f_i(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,i} z^n, i \in \mathbb{N}.$$

Then by equation (2.1), we have

$$\sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1-(-1)^n}{2} \right) |a_{n,i}| \le A - B.$$

For  $\sum_{i=1}^{\infty} \delta_i = 1$ ,  $0 \le \delta \le 1$ , we have

$$\sum_{i=1}^{\infty} \delta_i f_i(z) = \frac{1}{z} + \sum_{n=1}^{\infty} \left( \sum_{i=1}^{\infty} \delta_i a_{n,i} \right) z^n.$$

Using 2.1, we have

$$\sum_{n=1}^{\infty} \left( \sum_{i=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) \delta_i |a_{n,i}| \right)$$

$$\leq \sum_{i=1}^{\infty} \delta_i \left\{ \sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_{n,i}| \right\}$$

$$\leq (A-B) \sum_{i=1}^{\infty} \delta_i = A - B.$$

Hence  $\mathcal{MS}^{**}[A, B]$  is convex.

**Theorem 2.4.** Let  $f \in \mathcal{MS}^{**}[A, B]$ , |z| = r. Then

(2.8) 
$$\frac{1}{r} - \frac{A - B}{A + B + 2} r \le |f(z)| \le \frac{1}{r} + \frac{A - B}{A + B + 2} r.$$

Proof. As

$$|f(z)| = \left| \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n \right|$$

$$\leq \frac{1}{r} + \sum_{n=1}^{\infty} |a_n| |r|^n$$

$$\leq \frac{1}{r} + \frac{A - B}{A + B + 2} r.$$

Where we have used Theorem 2.1, on similar argument we have

$$|f(z)| = \left| \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n \right|$$

$$\geq \frac{1}{r} - \sum_{n=1}^{\infty} |a_n| |r|^n$$

$$\geq \frac{1}{r} - \frac{A - B}{A + B + 2} r.$$

Thus prove the result.

**Theorem 2.5.** Let  $f(z) \in \mathcal{MS}^{**}[A, B], |z| = r$ . Then

(2.9) 
$$\frac{1}{r^2} - \frac{2(A-B)}{A+B+2}r \le |f'(z)| \le \frac{1}{r^2} + \frac{2(A-B)}{A+B+2}r.$$

Proof. As

$$|f'(z)| = \left| -\frac{1}{z^2} + \sum_{n=1}^{\infty} n a_n z^{n-1} \right|$$

$$\leq \frac{1}{r^2} + \sum_{n=1}^{\infty} |a_n| |r|^{n-1}$$

$$\leq \frac{1}{r^2} + \frac{2(A-B)}{A+B+2} r.$$

Where we have used Theorem 2.1, and

$$|f'(z)| = \left| -\frac{1}{z^2} + \sum_{n=1}^{\infty} n a_n z^{n-1} \right|$$

$$\geq \frac{1}{r^2} - \sum_{n=1}^{\infty} |a_n| |r|^n$$

$$\geq \frac{1}{r^2} - \frac{2(A-B)}{A+B+2} r.$$

Thus prove the result.

**Theorem 2.6.** Let  $f(z) \in \mathcal{MS}^{**}[A, B]$  of the form (1.1), and  $h(z) = \frac{1}{z} + \sum_{n=1}^{\infty} b_n z^n \in \mathcal{MS}^{**}(A, B)$  with  $|b_n| \leq 1$ , then  $f(z) * h(z) \in \mathcal{MS}^{**}[A, B]$ .

*Proof.* Since by Theorem 2.1, we have

$$\sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_n| \le A - B.$$

Since

$$\sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_n b_n|$$

$$= \sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_n| |b_n|$$

$$\leq \sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_n| \leq A - B.$$

Thus  $f(z) * h(z) \in \mathcal{MS}^{**}[A, B]$ .

**Theorem 2.7.** If  $f \in \mathcal{MS}^{**}[A, B]$ . Then  $f \in \mathcal{MS}^*(\alpha)$  for  $|z| < r_1$ , where

(2.10) 
$$r_1 = \left(\frac{(1-\alpha)\left((1+B)n + (1+A)\frac{1-(-1)^n}{2}\right)}{(n+\alpha)(A-B)}\right)^{\frac{1}{n+1}}.$$

*Proof.* Let  $f \in \mathcal{MS}^{**}[A, B]$ . To prove  $f \in \mathcal{MS}^{*}(\alpha)$ , we only need to show

$$\left|\frac{zf'(z)+f(z)}{zf'(z)-(1-2\alpha)f(z)}\right|<1.$$

Using (1.1) along with some simple computation yields

(2.11) 
$$\sum_{n=1}^{\infty} \frac{n+\alpha}{1-\alpha} |a_n| |z|^{n+1} \le 1.$$

As f is in the class  $\mathcal{MS}^{**}[A, B]$  so we have from (2.1),

$$\sum_{n=1}^{\infty} \frac{(1+B)n + (1+A)\frac{1-(-1)^n}{2}}{A-B} |a_n| \le 1.$$

Now inequality (2.11) will be true, if the following holds

$$\sum_{n=1}^{\infty} \frac{n+\alpha}{1-\alpha} |a_n| |z|^{n+1} <$$

$$\sum_{n=1}^{\infty} \frac{(1+B)n + (1+A)\frac{1-(-1)^n}{2}}{A-B} |a_n|,$$

which implies that

$$|z|^{n+1} < \frac{(1-\alpha)\left((1+B)n+(1+A)\frac{1-(-1)^n}{2}\right)}{(n+\alpha)(A-B)},$$

and so

$$|z| < \left(\frac{(1-\alpha)\left((1+B)n+(1+A)\frac{1-(-1)^n}{2}\right)}{(n+\alpha)(A-B)}\right)^{\frac{1}{n+1}}$$
  
=  $r_1$ ,

we get the required condition.

**Theorem 2.8.** If  $f_0(z) = \frac{1}{z}$  and for  $n \ge 1$ 

$$f_n(z) = \frac{1}{z} + \frac{A - B}{(1 + B)n + (1 + A)\frac{1 - (-1)^n}{2}}z^n.$$

Then  $f \in \mathcal{MS}^{**}[A, B]$  if and only if

(2.12) 
$$f(z) = \sum_{n=0}^{\infty} \delta_n f_n(z),$$

where  $\delta_n \geq 0$  and  $\sum_{n=1}^{\infty} \delta_n = 1$ .

*Proof.* Let f(z) be expressed in the form (2.12), then

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} \delta_n \frac{A - B}{(1+B)n + (1+A)\frac{1 - (-1)^n}{2}} z^n,$$

and for above function, we have

$$\sum_{n=1}^{\infty} \left[ (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right]$$

$$\times \delta_n \frac{A - B}{(1+B) n + (1+A) \frac{1 - (-1)^n}{2}}$$

$$= (A - B) (1 - \delta_0) \le A - B.$$

Thus by Theorem 2.1,  $f(z) \in \mathcal{MS}^{**}[A, B]$ .

Conversly, let  $f(z) \in \mathcal{MS}^{**}[A, B]$ , since by Theorem 2.1, we have

$$|a_n| \le \frac{A - B}{(1+B)n + (1+A)\frac{1-(-1)^n}{2}}, \ n \ge 1,$$

we set

$$\delta_n = \frac{(1+B) n + (1+A) \frac{1-(-1)^n}{2}}{A-B} |a_n|, \ n \ge 1,$$

and

$$\delta_0 = 1 - \sum_{n=1}^{\infty} \delta_n,$$

so, it follows that

$$f\left(z\right) = \sum_{n=0}^{\infty} \delta_n f_n\left(z\right).$$

Hence proof is complete.

### 3. Partial Sums

Silverman [17] determined sharp lower bounds on the real part of the quotients between the normalized starlike or convex functions and their sequences of partial sums. As a natural extension, one is interested to search results analogous to those of Silverman for meromorphic univalent functions. In this section, motivated essentially by the work of Silverman [17] and Cho and Owa [15]( also see [16, 18]) we will investigate the ratio of a function of the form

(3.1) 
$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n,$$

to its sequence of partial sums

(3.2) 
$$f_1(z) = \frac{1}{z} \text{ and } f_k(z) = \frac{1}{z} + \sum_{n=1}^k a_n z^n$$

when the coefficients are sufficiently small to satisfy the condition analogous to

$$\sum_{n=1}^{\infty} \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right) |a_n| \le A - B.$$

For the sake of brevity we rewrite it as

$$(3.3) \sum_{n=1}^{\infty} d_n |a_n| \le A - B,$$

where

(3.4) 
$$d_n(A,B) := \left( (1+B) n + (1+A) \frac{1 - (-1)^n}{2} \right)$$

More precisely we will determine sharp lower bounds for  $\Re\{f(z)/f_k(z)\}$  and  $\Re\{f_k(z)/f(z)\}$ . In this connection we make use of the well known results that  $\Re\left\{\frac{1+w(z)}{1-w(z)}\right\} > 0$   $(z \in \mathfrak{D}^*)$  if and only if  $\omega(z) = \sum_{n=1}^{\infty} c_n z^n$  satisfies the inequality  $|\omega(z)| \leq |z|$ . Unless otherwise stated, we will assume that f is of the form (1.1) and its sequence of partial sums is denoted by  $f_k(z) = \frac{1}{z} + \sum_{n=1}^k a_n z^n$ .

**Theorem 3.1.** Let  $f \in \mathcal{MS}^{**}[A, B]$  be given by (1.1)satisfies condition (2.1), then

(3.5) 
$$Re\left\{\frac{f(z)}{f_k(z)}\right\} \ge \frac{d_{k+1}(A,B) + B - A}{d_{k+1}(A,B)} \qquad (z \in \mathfrak{D}^*)$$

where

(3.6) 
$$d_n(A,B) \ge \begin{cases} A - B, & \text{if } n = 1, 2, 3, \dots, k \\ d_{k+1}(A,B), & \text{if } n = k+1, k+2, \dots \end{cases}$$

The result (3.5) is sharp with the function given by

(3.7) 
$$f(z) = \frac{1}{z} + \frac{A - B}{d_{k+1}(A, B)} z^{k+1}.$$

*Proof.* Define the function w(z) by

$$\frac{1+w(z)}{1-w(z)} = \frac{d_{k+1}(A,B)}{A-B} \left[ \frac{f(z)}{f_k(z)} - \frac{d_{k+1}(A,B) + B - A}{d_{k+1}(A,B)} \right]$$

(3.8) 
$$= \frac{1 + \sum_{n=1}^{k} a_n z^{n+1} + \left(\frac{d_{k+1}(A,B)}{A-B}\right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{1 + \sum_{n=1}^{k} a_n z^{n+1}}.$$

It suffices to show that  $|w(z)| \leq 1$ . Now, from (3.8) we can write

$$w(z) = \frac{\left(\frac{d_{k+1}(A,B)}{A-B}\right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{2 + 2 \sum_{n=1}^{k} a_n z^{n+1} + \left(\frac{d_{k+1}(A,B)}{A-B}\right) \sum_{k=n+1}^{\infty} a_n z^{n+1}}.$$

Hence we obtain

$$|w(z)| \le \frac{\left(\frac{d_{k+1}(A,B)}{A-B}\right) \sum_{k=n+1}^{\infty} |a_n|}{2 - 2 \sum_{n=1}^{k} |a_n| - \left(\frac{d_{k+1}(A,B)}{A-B}\right) \sum_{n=k+1}^{\infty} |a_n|}.$$

Now  $|w(z)| \le 1$  if

$$2\left(\frac{d_{k+1}(A,B)}{A-B}\right)\sum_{n=k+1}^{\infty}|a_n| \le 2-2\sum_{n=1}^{k}|a_n|$$

or, equivalently,

$$\sum_{n=1}^{k} |a_n| + \frac{d_{k+1}(A, B)}{A - B} \sum_{n=k+1}^{\infty} |a_n| \le 1.$$

From the condition (2.1), it is sufficient to show that

$$\sum_{n=1}^{k} |a_n| + \frac{d_{k+1}(A,B)}{A-B} \sum_{n=k+1}^{\infty} |a_n| \le \sum_{n=1}^{\infty} \frac{d_n(A,B)}{A-B} |a_n|$$

which is equivalent to

$$\sum_{n=1}^{k} \left( \frac{d_n(A,B) + B - A}{A - B} \right) |a_n|$$

$$+ \sum_{n=k+1}^{\infty} \left( \frac{d_n(A,B) - d_{k+1}(A,B)}{A - B} \right) |a_n|$$

$$\geq 0.$$
(3.9)

To see that the function given by (3.7) gives the sharp result, we observe that for  $z = re^{i\pi/k}$ 

$$\frac{f(z)}{f_k(z)} = 1 + \frac{A - B}{d_{k+1}(A, B)} z^n \to 1 - \frac{A - B}{d_{k+1}(A, B)}$$
$$= \frac{d_{k+1}(A, B) + B - A}{d_{k+1}(A, B)} \text{ when } r \to 1^-.$$

which shows the bound (3.5) is the best possible for each  $k \in \mathbb{N}$ .

We next determine bounds for  $f_k(z)/f(z)$ .

**Theorem 3.2.** If f of the form (3.2) satisfies the condition (2.1), then

(3.10) 
$$Re\left\{\frac{f_k(z)}{f(z)}\right\} \ge \frac{d_{k+1}(A,B)}{d_{k+1}(A,B) + B - A} \qquad (z \in \mathfrak{D}^*),$$

where

(3.11) 
$$d_k(A,B) \ge \begin{cases} A-B, & if \quad k=1,2,3,\dots,n \\ d_{k+1}(A,B), & if \quad k=n+1,n+2,\dots. \end{cases}.$$

The result (3.10) is sharp with the function given by (3.7).

*Proof.* We write

$$\frac{1+w(z)}{1-w(z)} = \frac{d_{k+1}(A,B) + B - A}{A - B} \left[ \frac{f_k(z)}{f(z)} - \frac{d_{k+1}(A,B)}{d_{k+1}(A,B) + B - A} \right]$$

$$= \frac{1+\sum_{n=1}^{k} a_n z^{n+1} - \left( \frac{d_{k+1}(A,B)}{A-B} \right) \sum_{n=k+1}^{\infty} a_n z^{n+1}}{1+\sum_{n=1}^{\infty} a_n z^{n+1}},$$

where

$$|w(z)| \le \frac{\left(\frac{d_{k+1}(A,B) + B - A}{A - B}\right) \sum_{n=k+1}^{\infty} |a_n|}{2 - 2 \sum_{n=1}^{k} |a_n| - \left(\frac{d_{k+1}(A,B) + B - A}{A - B}\right) \sum_{n=k+1}^{\infty} |a_n|} \le 1.$$

This last inequality is equivalent to

$$\sum_{n=1}^{k} |a_n| + \frac{d_{k+1}(A, B)}{A - B} \sum_{n=k+1}^{\infty} |a_n| \le 1.$$

Make use of (2.1) to get (3.9). Finally, equality holds in (3.10) for the extremal function f(z) given by (3.7).

Acknowledgment: The second author is supported by UKM Grant: GUP-2019-032.

**Authors contributions:** All authors jointly worked on the results and they read and approved the final manuscript.

Conflicts of Interest: The author(s) declare that there are no conflicts of interest regarding the publication of this paper.

#### References

- [1] S. S. Miller and P. T.Mocanu, Second order differential inequalities in the complex plane, J. Math. Anal. Appl. 65 (1978), 289–305.
- [2] S. S. Miller and P. T.Mocanu, Differential Subordinations, Theory and Applications, Series on Monographs and Textbooks in Pure and Appl. Math. No. 225, Marcel Dekker Inc., New York, 2000.
- [3] R. M. Ali and V. Ravichandran, Class of meromorphic α-convex functions, Taiwan. J. Math. 14 (2010), 1479–1490.
- [4] A. A. Catas, note on meromorphic m-valent starlike functions, J. Math. Inequal. 4 (2010), 601-607.
- [5] O. S. Kwon and N. E. Cho, A class of nonlinear operators preserving double subordinations, Abstr. Appl. Anal. 2018 (2008), 792160.
- [6] K. I. Noor and F. Amber, On certain classes of meromorphic functions associated with conic domains, Abstr. Appl. Anal. 2012 (2012), ID 7921601.
- [7] M. Nunokawa and O. P. Ahuja, On meromorphic starlike and convex functions, Indian J. Pure Appl. Math. 32 (2001), 1027–1032.
- [8] M. Nunokawa, N. Owa, N. Uyanik and H. Shiraishi, Sufficient conditions for starlikeness of order  $\alpha$  for meromorphic functions, Mathematical and Computer Modelling, Indian J. Pure Appl. Math. 55 (2012), 1245–1250.
- [9] H. Tang, G. T. Deng and S. H. Li, On a certain new subclass of meromorphic close-to-convex functions, J. Inequal. Appl. 2013 (2013), 164.
- [10] Z. G. Wang, Z. H. Liu and R. G. Xaing, Some criteria for meromorphic multivalent starlike functions, Appl. Math. Comput. 218 (2011), 1107–1111.
- [11] Z. G. Wang, Y. Sun and N. Xu, certain properties of meromorphic close-to-convex functions, Appl. Math. Lett. 25 (2012), 454–460.
- [12] Z. G. Wang, H. M. Serivastava and S. M Yuan, Some basic properties of certain subclasses of meromorphically starlike functions, J. Inequal. Appl. 2014 (2014), 29.
- [13] D. J. Hallenbeck and S. Ruscheweyh, Subordination by convex functions, Proc. Amer. Math. Soc. 52 (1975), 191–195.
- [14] K. Sakaguchi, On a certain univalent mapping, J. Math. Soc. Japan. 2 (1959), 72–75.
- [15] N. E. Cho and S. Owa, Partial sums of certain meromorphic functions, J. Inequal. Pure Appl. Math. 5 (2004), 30.
- [16] S. Sivaprasad, V. Ravichandran and G. Murugusundaramoorthy, Classes of meromorphic p-valent parabolic starlike functions with positive coefficients, Aust. J. Math. Anal. Appl. 2 (2005), 3.
- [17] H. Silverman, Partial sums of starlike and convex functions, J. Math. Anal. Appl., 209 (1997), 221–227.
- [18] B. A. Frasin and G. Murugusundaramoorthy, Partial sums of meromorphic multivalent functions with positive coefficients, Studia Univ. Babes-Balyai Math. Annul. (2005), 33–40.